












Choose the correct mirror image of the given figure (X) from 

amongst the four alternatives ?

(X) (A) (B) (C) (D)



Find the option which should replace (?)

541 : 992:: 145 : ?

(A) 784

(B) 576

(C) 776
(D) 921
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Find the option which should replace (?)

16 : 13 :: 64 : ?

(A) 22

(B) 20

(C) 19
(D) 18
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Find the option which should replace (?)

39 : 82 :: 88 : ?

(A) 64

(B) 56

(C) 81
(D) 99
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Find the option which should replace (?)

5*9*4= 36

5*3*1= 15

7*9*1= ?

(A) 54

(B) 63 

(C) 77
(D) 81  



Find the missing one  (?)

850 : 368 :: 430 : ?

(A) 437

(B) 737

(C) 534

(D) 451



Q Which number will replace the question mark ?

(A) 22 (B) 33

(C) 66 (D) 77

42 44 38

23 55 28

37 ? 39



Q  Which number will replace the question mark ?

(A) 1084 (B) 484

(C) 49 (D) 36

? 25 16

529 169 81

676 144 49



Q Which number will replace the question mark ?

(A) 13 (B) 6

(C) 17 (D) 22

? 13 15

9 28 4

13 12 16



Q Which number will replace the question mark ?

(A) 48 (B) 7

(C) 28 (D) 36

55 22 28

33 44 28

66 33 ?



Q Which number will replace the question mark ?

(A) 104 (B) 105

(C) 51 (D) 57

2 1 4

7 14 11

41 195 ?



Q Which number will replace the question mark ?

(A) 4 (B) 3

(C) 1 (D) 2

47 40 50 43

23 20 22 19

20 21 1 ?



Q Which number will replace the question mark ?

(A) 3 (B) 7

(C) 2 (D) 1

4 2 5

3 3 10

6 9 4

8 6 ?



A tailor had a number of shirt pieces to cut from a roll of 
fabric. He cut each roll of equal length into 10 pieces. He cut 
at the rate of 45 cuts a minute. How many rolls would be cut 
in 24 minutes ?
एक दर्जी के पास कपडे के एक रोल से काटने के ललए कई शटट के

टुकडे थे। उसने बराबर लंबाई के प्रते्यक रोल को 10 टुकडों में काट
लदया। उन्ोनें 45 कट प्रलि लमनट की दर से कटौिी की। 24 लमनट में
लकिने रोल काटे र्जाएंगे?
A.32 rolls B.54 rolls

C.108 rolls D.120 rolls



Your age is 10 years less than half of your mother’s age . Mother is 5 

years younger than your father , if your father is 45 years old , then what 

is your age ?

आपकी उम्र आपकी म ाँ की उम्र के आधे से 10 स ल कम है। म ाँ आपके पपत से 5 स ल

छोटी है, अगर आपके पपत की उम्र 45 स ल है, तो आपकी उम्र क्य है?

(A) 20 years

(B) 15 years 

(C) 10 years 

(D)  5 years 



Q. In ASEAN Summit, all leaders shake hands with each other once. How many 

handshakes will there be altogether if there are 15 leaders?
आपसय न पिखर समे्मलन में, सभी नेत ओं एक ब र एक-दूसरे के स थ ह थ पमल ते हैं। 15 
नेत हैं तो पकतने हैंडिेक होगें? 
(A) 105 (B) 85

(C) 75 (D) 100



Q. Mukesh is 40 years old and he is five times as old as his brother Rohit. 

When Mukesh is thrice as old as Rohit then age of Mukesh is
मुकेि 40 स ल क है और वह अपने भ ई रोपहत से प ंच गुन बड़ है। जब मुकेि रोपहत से

तीन गुन बड़ है तो मुकेि की उम्र है-
(A) 44 years (B) 46 years

(C) 48 years (D) 40 years



Q. In a row of 35 students. Amit is 15th from right and Mohan is 12th from left. How many 

students are there between Mohan and Amit?

35 छ त्ो ंकी एक पंक्ति में। अपमत द एं से 15 वें स्थ न पर हैं और मोहन ब एं से 12 वें स्थ न पर हैं। मोहन और

अपमत के बीच पकतने छ त् हैं?
(1) 21

(2) 13

(3) 10

(4)  8

(5) None of these

Question -4



Q. In a row of 25 students. X is 19th from right and Y is 21st from left. How many students are 

there between X and Y?

25 छ त्ो ंकी एक पंक्ति में। X द एं ओर से 19 वें स्थ न पर है और Y ब एं ओर से 21 वें स्थ न पर है। X और Y के बीच

पकतने छ त् हैं?
(1) 21

(2) 13

(3) 10

(4) 6

(5) None of these

Question -5


